

Overview

HP 727 DesignJet Ink Cartridge, matte black (130 ml)

It's easy to get crisp, clear results. Designed together with your HP DesignJet printer as an optimized printing system, Original HP inks can help reduce downtime and improve productivity. Fast-drying, smudge-resistant prints help you keep pace.

Produce high-quality, professional drawings

Present your professional best with the accurate, professional prints produced by Original HP inks.

Help reduce downtime and improve productivity

See accurate, professional results, print after print, cartridge after cartridge with Original HP inks.

Easy-to-use cartridges fit the way you work

High-capacity 300-ml ink cartridges enable more unattended printing.[1]

[1] Comparing 300-ml HP 727 DesignJet Ink Cartridges to 130-ml HP 727 DesignJet Ink Cartridges.

Specifications

Ink types	Pigment-based
Color(s) of printing supplies	Matte black
Print Technology	Ink
Supply type	Cartridges
Ink drop	9 pl
Print head nozzles	9632
Print cartridge volume delivered	130 ml
Operating temperature range	5 to 40℃
Storage temperature range	-25 to 55℃
Operating humidity range	20 to 80% RH
Non-Operating Humidity Range	20 to 80% RH
Print Resolution Technologies	TIJ 4.0
Compatibility	HP DesignJet T920 Printer series, HP DesignJet T1500 Printer series, HP DesignJet T930 Printer series, HP DesignJet T1530 Printer series, HP DesignJet T2530 Multifunction Printer series, HP Designjet T2500 eMFP
Product count per unit	1
Case or master carton quantity	20
Quantity per pallet	1680
Cartons per pallet	84
UPC number	887111963772
Pallet barcode	20887111963776
Minimum dimensions (W \times D \times H)	202 x 129 x 40 mm
Minimum dimensions (W \times D \times H)	
	7.95 x 5.08 x 1.57 in
Package dimensions (W x D x H)	7.95 x 5.08 x 1.57 in 202 x 129 x 40 mm
Package dimensions (W x D x H)	202 x 129 x 40 mm
Package dimensions (W x D x H) Package dimensions (W x D x H) Case or master carton dimensions	202 x 129 x 40 mm 7.95 x 5.08 x 1.57 in
Package dimensions (W x D x H) Package dimensions (W x D x H) Case or master carton dimensions (W x D x H) Case dimensions (case or master	202 x 129 x 40 mm 7.95 x 5.08 x 1.57 in 364 x 218 x 229 mm
Package dimensions (W x D x H) Package dimensions (W x D x H) Case or master carton dimensions (W x D x H) Case dimensions (case or master carton) Case weight (case or master	202 x 129 x 40 mm 7.95 x 5.08 x 1.57 in 364 x 218 x 229 mm 14.33 x 8.58 x 9.02 in
Package dimensions (W x D x H) Package dimensions (W x D x H) Case or master carton dimensions (W x D x H) Case dimensions (case or master carton) Case weight (case or master carton)	202 x 129 x 40 mm 7.95 x 5.08 x 1.57 in 364 x 218 x 229 mm 14.33 x 8.58 x 9.02 in 5.26 kg
Package dimensions (W x D x H) Package dimensions (W x D x H) Case or master carton dimensions (W x D x H) Case dimensions (case or master carton) Case weight (case or master carton) Package weight	202 x 129 x 40 mm 7.95 x 5.08 x 1.57 in 364 x 218 x 229 mm 14.33 x 8.58 x 9.02 in 5.26 kg 0.25 kg

What's in the box	Ink cartridge
Manufacturer Warranty	Until the "Warranty Ends" date has been reached or the warranted usage limit has been reached, whichever occurs first.

Additional specifications

Cartons per layer	14
Cartridge Colors	Matte Black
Case weight (case or master carton, imperial)	11.6 lb
Count of layers in pallet	6
Country of origin	Made in Singapore
Operating temperature range	41 to 104°F
Package count	1
Print technology	HP Thermal Inkjet
Product subgroup	Standard Capacity Ink Cartridges
Selectability	727
Smaller master carton barcode	10887111963779
Storage temperature range	-13 to 131°F
Subgroup	Standard Capacity Cartridges
UNSPSC code	44103105
Warranty	Each HP ink cartridge, printhead, and related supply is warranted to be free from defects in materials and workmanship during the period of the warranty. This warranty pertains to any HP ink cartridge or printhead when used in its designated HP or authorized original equipment manufacturer (OEM) printing device. See the product manual for the printer to determine the correct ink cartridge, printhead, or related supply selection. This warranty does not cover HP ink products that have been refilled, remanufactured, refurbished, misused, or tampered with. The coverage lasts until the "Warranty Ends" date has been reached or the warranted usage limit has been reached, whichever occurs first. TO THE EXTENT ALLOWED BY LOCAL LAW, THE ABOVE WARRANTIES ARE EXCLUSIVE AND NO OTHER WARRANTY, WHETHER WRITTEN OR ORAL, IS EXPRESSED OR IMPLIED AND HEWLETT-PACKARD SPECIFICALLY DISCLAIMS ANY IMPLIED WARRANTIES OR CONDITION OF MERCHANTABILITY, FITNESS FOR A PARTICULAR PURPOSE, OR SATISFACTORY QUALITY. TO THE EXTENT ALLOWED BY LOCAL LAW, THE REMEDIES IN THIS WARRANTY STATEMENT ARE YOUR SOLE AND EXCLUSIVE REMEDIES. IN NO EVENT SHALL HEWLETT-PACKARD BE LIABLE FOR ANY INCIDENTAL, DIRECT, CONSEQUENTIAL, SPECIAL, OR INDIRECT DAMAGES, OR LOST PROFITS FROM ANY BREACH OF THIS WARRANTY OR OTHERWISE. SOME COUNTRIES, STATES OR PROVINCES DO NOT ALLOW THE EXCLUSION OR LIMITATION OF INCIDENTAL OR CONSEQUENTIAL DAMAGES, SO THE ABOVE LIMITATION OR EXCLUSION MAY NOT APPLY TO YOU.
Weight	0.46 lb
Weight	0.21 kg

© Copyright 2022 HP Development Company, L.P. The information contained herein is subject to change without notice. The only warranties for HP products and services are set forth in the express warranty statements accompanying such products and services. Nothing herein should be construed as constituting an additional warranty. HP shall not be liable for technical or editorial errors or omissions contained herein.

Generated by Dynamic Collateral Tool – (us-en) – Nov 08, 2022 4:40 PM UTC+0000